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2| (Bt) FWBR NS v IR THS 100,000 [FmRE
3| (—%) BREB NSV IHE 1,000,000 [BEIR
4| (—#) ERE SV IHBSEES 640,000 |ER&P
5| (—%) BHE NSV IHE 1,000,000 [fBHE
6|dLFEEH T OV I NSy IHa 1,500,000 [FmRE

7| (—%1) FEER hSw IHEHES 39,587 |EfEIR
8| (—%1) HLIRHhX b v U ES 3,798,000 |4LMEM
9| (—%) BERSvYIHEEE 98,329 [#EE
10| (—%) FER NSV IHS 3,350,000 |FEE
11| (%) BEER NSV IHS 5,100,000 |EER
12| (—%t) REF SV OB 1,380,000 |ZR&EBATF
13|1BEER by OBFHER 50,000 |f&RE
14| (—%t) FERE S W IHEAKES 50,000 |EZR#D
15|53ME S v Ot =raEbseah 100,000 |g#ME
16| (i) H=# Sy oBAkES - % - BRI 50,000 |EER#ED
17| RIBR S v ItHaRIGSEE 225,000 |RIFE
18| i) WSy IBR NS YOI IRIRFTIOS T N 100,000 |[ERZR#D
19| (1) EEBE NSy IHE NSy IBTENS 300,000 |EEIREE
20| @) 2EANSYIRSEEHSIEEHIOY IAS 269,775 [{tiEEMT OY OBEHER
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